Signal region 0/,1btag 0¢,2btag 0{,3btag 2¢{,1btag 2¢,2btag 2/,3Dbtag
Data 24524+50 398 £20 45+7 10512 +103 2188447 129+11
Z +ets 740 =12 4811 20£02 4118 =15 1751 18£1
Z +b 220+6 13+1 046+0.06 4127418 365+3 23+1
Z +bb 13443 86 +2 25+03 1547 +£11 111347 51£2
single top 74+£3 18+1 3.0+04 25+0 10.0£0.1 -

tt 750+12  143+£3 31+3 592 +£3 473 £3 26+1
VV, Vh 76 2 32+1 0.93 £0.11 139 +1 531 35£01
W +ets 458 +£13 653 24+03 37x£01 - -
Total bkg. 245126  405*8 42+5 10552 £35 2189 +12 121 +3
Pre-fit bkg. 2467 £26 427 +8 28+5 10740 £35 2250 +12 100 £ 3
mp = 300 GeV - - - 3.1£02 33+02 010£0.01
mpa =1000GeV 273+£52 286+£54 35+£07 54+£10 6.1+t12 1.2+0.2



